oS 283} Zo] AABC oA 2C = 90°, /B = 30°, AB = 4cm ©]1
(A 9] o] 5 HE X o] BC o vhit= & D 2 & uf, AABD 9] Yo]=?

©) gch @ Tch ® 4v5cm?
@ ?ch ® 3v2cm?

/BAC = 60° °|22 /BAD = /DAC = 30° °|t}.

ABC A AB:BC:CA=2: V3:1°]22 AC =2,BC =
23 °Jt}.

AADC |4 ZADC = 60°

AD:DC:CA=2:1:+3

AD:DC:2=2:1: \/§

— 2 2




& oA /ABC = /BCD = 90°,AB = 1, /BAC =

60°, /BDC = 45° 4 1], BD 2] Ao & Fafoiat.

D
A5°

A

"o

1

B C
» E
> HE V6

B

AABC 9| A tan 60° =

BC _ 3. met BG = v3 ol

~ 2 wtobx) BD - G ol

s -8

ABCD 9| A] sin45° =




oS A9l x—y4-5 = 02] 2L}
x5, yE0e] wyde 47 A, BEHL
g, sin A, cos A & 242} FLoloiEt,

YA

>
o

= . sinA =

v V v V¥
0
0

0
1L

. cosA =

SR

B

x—y+5=09y=x+5
Jdefmof A tan A+ A0 7|27 & £SIER tanA = 1,
(A =45°

w}2hA] sin45° = \/75, cos45° = \/75 o|ct,

=Y




4.

B A|-o] { Q& 7]FE= Zo|7} 8om ¢ & A5t ¢ 2
Tl 71FolA AWE Ao R Ytk 2 2 Ho] A d o,
(CBA = 32° o|t}, 7|37} A4 Holzl o] AB & HH3d}to]
A o] 2 7HA] Foto=t. (T, cos 32° = 0.8480 )

an

cos 32° = % = 80 X cos 32°

. x=80x%0.8480 = 67.840 = 67 (m)




B8 1elA aABC 9 WolE Fafolel. A
(T, sin 38° = 0.62, cos38° = 0.79 ) 7

>
> HEHD 24.49cm?

B \

BC AC — _
i = — °=__——0 DE_ = 0. = (.
sin 38 0" cos 38 10 ] BC =62, AC=179
weh A Eotazt b= AABC 9] HWole % X62%x79 =

24.49( cm?) o]t}




6.

B A © e 7I7E 27t 60m ¢ €& A2

stol ¢ A1

Ttk 7]Fol A AWE Ao Yo B 2ol A o of,
(CBA = 32° o]t}. 7]37} Ao A HolZ &o] AB & W5}
(

A o] 2 7FA] F6HH? (T, cos 32° = 0.8480 )

,
’
60m T
/
/

@sm  @5m @ 52m @ 53m

® 54m

X
320 = -—
COS 60

x = 60 X cos 32° = 60 x 0.8480 = 50.88 = 50 (m)




7.

tanA = 1 @, AL o) g0 pter
2 sin A — cos A
@ 5 @ 3 @1 @ -1

B

Fold Ao BB Bas 717} cos A 2 Ui F,

2 1™

1
tanA+2 o 5 B o
iy = 4= 5 x (D) =5k
2




8.

1
tanA =1 ¥ o, (1 +sinA)(1-cosA)+ 5 O] F2(H, 0° < A<

o; @ ®v @vi 0=

tanA =1 & o
1 1
SinA = —, cosA = —
V2 V2

"~ (1+sinA) (1—cosA)+% = <1—|—‘/L§> (1—\%)—1—% =




sinA:cosA=4:5% 9 tan A 9] F29

® 0 @ V2 @? 1

2
® - 5

W~ ot

B

sinA :cosA=4:5022 5s5inA = 4cos A O|t}.

FAL 5eosA 2 1w A _ Loy
cosA 5

4

whebA] tan A = £ o]k,
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10. ¢

oo

ZT2A L AL T 12HY?

@ sin45° = cos45° @cos48°>cos38°
@ tan35° < tan40® @ sin37° < cos37°
@sin56° < cosH6 °

B

@ cos48° < cos38°
@ tan35° < tan40°

@ sin37° < cos37°
® sin 56 ° > cos 56 °




11. o B71% 28 A9 7|58 B 249,

H7]
@ sin30° < cos30° © sin37° < cos37°
© tan35° > tan40° ® sin36°>cos36°
@ sinb4° < coshH4®

v VvV v V¥
0
m o oo
<)

0
m
©

B

© tan35° < tan 40 ° o

® sin36° < cos 36 ° cos | >< N
© sin54° > cos 54 ° s1n




12. y = —2cos’x +4cosx +5 7F HHAZEZ 7HE o, x o 3L20(H,
0°<x<90°)

@0 @30° @4 @6 O 90

cosx=A (0<A<1)z2sH
y=-2A2+4A+5=-2(A-1)2+7
A=19o, HHF 7S 7IAERZE cosx=1L 0 x=0°




